1 Gsaka Metro 2 12 0 10 22 1 0 3
2 Gsaka Metro 6 158 0 0 158 2 12 6
3 (aka Metro %5 | 153 0 0o | 13 | 4 2 5
4 saka Mtro % | = 0 1 | e 4 0 1
5 (saka Wwtro 7| we 0 0o | 46 | 10 3 18
6 sala Metro 0 |1123 0 0 L1238 18 78 87
7 Gsaka Metro 9 72 0 0 72 2 3 5
8 o] w 0 0 | 4 4 5
9 2 Osaka Metro s | oz 149 | 108 | 1180 | 18 35 a3
10 Gsaka Metro 1 390 0 0 390 0 0 0
1 e vot 10 2| 2004 0 0o |20m| 24 | 216 | 175
12 4 % | 20 0 o |20 | 3 7 15
13 ek tetro 120 | 38 0 0 | 308 | 10 17 23
14 Osaka Metro s | 20 0 0o | 200 | 10 19 12
15 Gsaka Metro 6 168 0 0 168 2 13 18
16 saka Mt o s | 108 0 o | 13| 4 10 8
17 4 saka Metro o | es0 120 | o | 79| 16 17 P
18 saka Metro ° 56 0 o | 56 3 2 1
19 saka Mt o 7| 2o 0 o | 2 | 7 14 14
20 saka Metro 0 | e 0 o | e6 0 0 0
21 3 12 | &0 60 o [seo | 1 | 142 | e
8,506 3B | 119 |90s3| 153 | 614 | 52




